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Question Number : 1 Question Id : 2549896537 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following protocols is used by electronic mail?

Options :
1. % Telnet
2. % FTP
3. ¥ SMTP

4. % RDP

Question Number : 1 Question Id : 2549896537 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ e

2. % FTP



3. ¥ SMTP

4. = RDP

Question Number : 2 Question Id : 2549896784 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a program designed to run a computer's hardware and applications and

manage its resources, such as its memory, processors, and devices?

Options :

1. % Application software
2. ¥ System software

3. #* Database software

4. ¥ Word processor
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ UE{Ihe iuedar
2. ¢ f{%eH Figed®R
3. ¥ ey 9ited®R

4, ¥ g3 uUfawR



Question Number : 3 Question Id : 2549896921 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Registers are part of

Options :

1. % control unit

2. ¥ central processing unit
3. ¥ input device

4. #® output device
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. % hgled gfe

2. ¢ Jeat U gfac
3. ¥ gqye feay

4. % r3cye fearzy

Question Number : 4 Question Id : 2549896926 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

has a limitation that we can only read it but cannot erase or modify it.



Options :

1.+ CD ROM

2. % Hard disk

3. # Compact Disk-RW

4. * Floppy disk
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Options :
1.+ CD ROM
2. % gre e
3. ® e feEhR-RW

4. % yardt fewn

Question Number : 5 Question Id : 2549897077 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What works as an interface, connecting the user, the application software and the hardware?

Options :
1. * Application software

2. ® Utility software

3.



# Translator software

4. ¥ QOperating system
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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Options :

1. ¥ UAIhE Gioedar
2. ® gffadt ditedmr
3. ¥ Zifciey GIRdR

4. ¢ JTRfdT Reen

Question Number : 6 Question Id : 2549897511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Word count option is available in which tab of OpenOffice writer?

Options :

1. * Format
2. % Help
3. * Insert

4. % Tools
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. % HiAC
2. % geu
3. % g4

4. % T8

Question Number : 7 Question Id : 2549897561 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following device is a pointing device used to move an object on screen in any
direction, has a vertical rod mounted on a base with one or two buttons and are used extensively

in video arcade games?

Options :

1. Joystick

2. % Scanner

3. ¥ Microphone

4., # Digital camera
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:N.A Think Time : N.A Minimum Instruction Time: 0
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Options :
1. ¢ Safe®
2. % TR
3. ¥ HIShIKA

4. % f3fSieat huxn

Question Number : 8 Question Id : 2549897567 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which among of the following is a small digital video camera directly or indirectly connected to a

computer or a computer network?

Options :

1. #* Digital SLR camera
2. ¥ Web camera

3. % Movie camera

4. % Action camera

Question Number : 8 Question Id : 2549897567 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :




1. # f3fSeet SLR ha=T
2. A9 I
3. % Tt AT

4. % YoM hH”T

Question Number : 9 Question Id : 2549898458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which function returns the natural logarithm of a number in MS-Excel 2021?

Options :

1. # NLOG function
2. ¥ LN function

3. # LOG function

4. % NL function

Question Number : 9 Question Id : 2549898458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2021 #, i QT thar= foheft T T Geh UTehfceh STEFTUT ST 872

Options :
1. ¥ NLOG %he=
2. ¥ LN thasH

3. ¥ LOG Hhar™



4., ¥ NL tharME

Question Number : 10 Question Id : 2549898987 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is meant by a cluster, in the context of a hard disk?

Options :

1. % Itis a group of disk sectors.

2. * Itis a group of matched sectors.
3. # Itis a group of layers.

4. % Itis aroot directory.
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ g fete Yaed & Us Tgg glar e
2. % gg Heg Yoy 1 Ueh THE 8T &
3. ¥ gg Uxdl ol Ueh g &I &

4. % gg Uch & ST &

Question Number : 11 Question Id : 25498920552 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
One TB storage capacity is equal to MB.

Options:

1. % 10241
2. v 10242
3. % 10243

4. ¥ 10244

Question Number : 11 Question Id : 25498920552 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Teh TB HSRUT &l MB & SRTeR gl 8

Options :

1. % 10241
2. v 10242
3. % 10243

4. % 10244

Question Number : 12 Question Id : 25498929739 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a plastic tape, usually made of Mylar that is coated with iron oxide,
thereby enabling the introduction (writing), retention (memory) and reading of magnetically
recorded information?

Options:

1.



® Hard disk
2. ¥ Magnetic tape
3. #* Optical disk drive

4. % USB
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % g1 fewn

2. ¢ Jahg ¢u

3. # Siffechel foh g13a

4. % USB

Question Number : 13 Question Id : 25498929839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The barcode reader and a flatbed scanner has the following component in common.

Options :
1. * Internal memory chip

2. ¥ Lens and a light sensor



3. % Electronic circuit

4, * Power backup

Question Number : 13 Question Id : 25498929839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
= & O 1 IRPIS SR 3R Feless WhR, a1 H I/ ST el Ueh 9THI 96 67

Options :

1. % geer AuRt R

2. ¥ dQ 3R Ueh U1 GR
3. ¥ faggg gRuy

4., % Ul 93y

Question Number : 14 Question Id : 25498929901 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following devices is used to scan the barcode on various products in a supermarket?

Options :

1. % Barcode reader
2. % Wecamera

3. * Joystick

4. % OCR

Question Number : 14 Question Id : 25498929901 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ IR&TS T

2. % ot du

Question Number : 15 Question Id : 25498930881 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Drum plotters draw on paper wrapped around a drum that turns to produce one direction of the

plot while the move to provide the other direction.

Options:
1. % pens
2. * papers
3. % toners

4. % pins

Question Number : 15 Question Id : 25498930881 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.¥ 09

2. % 9w
3. ¥ IR

4. % fom

Question Number : 16 Question Id : 2549898175 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the binary equivalent of decimal number 12?

Options :
1.+ 1100
2. % 1010
3. % 1001

4. % 1011

Question Number : 16 Question Id : 2549898175 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1.+ 1100
2. #1010

3. % 1001



4. % 1011

Question Number : 17 Question Id : 2549899461 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Inkjet printers use cartridge.

Options :
1. % buffer
2. % toner
3. ¥ pool

4.+ ink

Question Number : 17 Question Id : 2549899461 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % I
2. % O
3. # gd

4. 3%

Question Number : 18 Question Id : 2549899479 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following non-volatile memory stores the computer’s Basic Input Output System

(BIOS) program?

Options :
1. ¥ ROM
2. % RAM
3. * Registers

4. ¥ Cache memory

Question Number : 18 Question Id : 2549899479 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ ROM
2. ¥ RAM
3. * Registers

4. ®# Cache memory

Question Number : 19 Question Id : 2549899583 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following printers is a non-impact printer?

Options:

1. * Dot matrix



2. ¥ Daisy wheel
3. #* Chain

4. % |Laser

Question Number : 19 Question Id : 2549899583 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® gl Afcay
2. % Soft g
3. % 39

4. ¥ AR

Question Number : 20 Question Id : 25498910792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
'PERMUT function belongs to which of the following categories in MS-Excel 2019?

Options :
1. % Statistical
2. * Financial
3. * Text

4. % Maths and Trigonometry



Question Number : 20 Question Id : 25498910792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. « gifrehig (Statistical)
2. % =i (Financial)

3. # e (Text)

4, % T7forg 3R RAeetuiAfa (Maths and Trigonometry)

Question Number : 21 Question Id : 25498911255 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In the context of satellite communication services, INTELSAT stands for:

Options:

1. % International Telecommunications Satellite Organisation
2. * India Telecommunications Satellite Organisation

3. ¥ Inter Telecommunications Satellite Organisation

4. #® International Telecommunications Standard Organisation

Question Number : 21 Question Id : 25498911255 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ International Telecommunications Satellite Organisation (3233 deilehRIAh deTse HMS)
2. # India Telecommunications Satellite Organisation (3T cfirrgfche™ deetge TireA)

3. # Inter Telecommunications Satellite Organisation (3¢ deflehRgAch deTse TS)

4. ¥ International Telecommunications Standard Organisation (3¢ ¢ellchR[AhH LUSS HiTSH)

Question Number : 22 Question Id : 25498913399 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Animageisa dimensional signal.

Options :
1. ¥ two

2. % three
3. # four

4. % five

Question Number : 22 Question Id : 25498913399 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1.¥ 3
2. % A4

3. ¥ gRr



4. % U

Question Number : 23 Question Id : 25498913464 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In which of the following modulation, the height (i.e., the strength or intensity) of the signal carrier

is varied to represent the data being added to the signal?

Options :

1.+ Amplitude
2. * Frequency
3. * Phase

4. % Polarization

Question Number : 23 Question Id : 25498913464 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ geltare (Amplitude)
2. % fIhedf& (Frequency)
3. # Ot (Phase)

4. % giaRsieE (Polarization)

Question Number : 24 Question Id : 25498913959 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the use of the ping command?

Options :

1. * To test hard disk fault

2. ¥ To test if the device in network is reachable
3. # To test bugs in an application

4. # To test print quality

Question Number : 24 Question Id : 25498913959 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % grd f&%n &Y @RIl a1 ST AT

2. ¢ gg e & forg foh Aeadh d feargg uga ava g
3. % fordY Qlterche™ | &7 bl ST aheAT

4, % fl &I T[UraT Y ST HAT

Question Number : 25 Question Id : 25498918477 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you want to print selected text in a file or document, then what is the correct option in MS-Word

2019?



Options :

1. ¢ Highlight the text, press Ctrl+P, in print option click ‘selection’ only

2. # Highlight the text, press Shift+P, in print option click ‘selection’ only

3. # Highlight the text, press Ctrl+P, in print option click ‘highlighted all’ only

4. # Highlight the text, press Alt+P, in print option click ‘selection’ only

Question Number : 25 Question Id : 25498918477 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 #, af¢ sy fohet wrget a1 Slege & gafaa Sere &l Jfed @1 8, af siueh grT 3w 7 9 foe
e @1 == foar ST =nfeu?

Options :

1. & S I giscATse AT, Ctrl+P &M, Print faghed H chae ‘Selection’ UR faeten ahzem
2. % ¥G< R gIseArge AT, Shift+P &1, Print fahed & chad ‘Selection’ TR faeter &eT

3. ¥ JaT Sl gIsaTse e, Ctrl+P &ar, Print fahed & ahaet ‘Highlighted all’ TR faeTen et

4, ¥ T R BISATSC hT, Alt+P I, Print faehed | chael 'Selection’ WR faeTes eheem

Question Number : 26 Question Id : 25498918563 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What is the minimum disk space required to install Red Hat Enterprise Linux 7?

Options :
1.4 10 GiB

2. % 20GiB



3. % 5GIiB

4. % 8 GiB

Question Number : 26 Question Id : 25498918563 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.4 10 GiB
2. # 20GiB
3. # 5GiB

4. % 8 GiB

Question Number : 27 Question Id : 25498922031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
With reference to data encryption, what is the full form of CBC?

Options :

1. #* Cyclic Block Chaining
2. ¥ Central Block Chaining
3. * Critical Block Chaining

4. + Cipher Block Chaining

Question Number : 27 Question Id : 25498922031 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Cyclic Block Chaining (STsfdeten ifer af+m)
2. ¥ Central Block Chaining (8= sdfeh 9f<)
3. # Critical Block Chaining (fehf¢erat sien o)

4. ¢ Cipher Block Chaining (Rt sctien 2f)

Question Number : 28 Question Id : 25498924174 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Who is the creator of Python Programming Language?

Options :

1. # James Gosling

2. ¥ Guido Van Rossum
3. * Dennis Ritchie

4. # Larry Wall

Question Number : 28 Question Id : 25498924174 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ S=g M (James Gosling)



2. ¢ 7281 491 AGH (Guido Van Rossum)
3. # 339 AT (Dennis Ritchie)

4. ® R aid (Larry Wall)

Question Number : 29 Question Id : 25498925401 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which among the following is NOT an analog to analog conversion method?

Options :

1. % Binary Modulation

2. % Amplitude Modulation
3. # Frequency Modulation

4. * Phase Modulation

Question Number : 29 Question Id : 25498925401 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ S1E_) Aiegeis (Binary Modulation)
2. ¥ I AlsgeE (Amplitude Modulation)

3. # Igfy Afeyeiv™ (Frequency Modulation)

4. ¥ Gl Al (Phase Modulation)



Question Number : 30 Question Id : 25498925435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
and surge suppressors can protect computer equipment.

Options :

1. * Uninterruptible power sink

2. ¥ Uninterruptible power supplies
3. ¥ Universal power supplies

4. * Universal power sink

Question Number : 30 Question Id : 25498925435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ IrgcRiieas Ut e

2. ¥ TSRS HieR AT

3. ¥ gfAqde iR 9wrs

4, % gy iR &

Question Number : 31 Question Id : 2549896965 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What are the four things required to connect to the internet?



Options :

1. ¢ Telephone line, modem, computer and an ISP
2. ¥ Modem, computer, PDA and ISP

3. #* Telephone line, PDA, modem and computer

4. # Computer, ISP, modem and printer

Question Number : 31 Question Id : 2549896965 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ SR oleH, ATSH, R 3R ISP
2. ¥ AieH, R, PDA 3R ISP

3. ¥ efithF @13, PDA, #AleH iR g’

4, % Hygg, ISP, AreH IR iR

Question Number : 32 Question Id : 2549897223 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following operators in Google drive, search by the title of file or document?

Options:
1. # head:
2. * type:

3. ¥ title:



4, % name:;

Question Number : 32 Question Id : 2549897223 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. * head:
2. % type:
3. ¥ title:

4. % name:

Question Number : 33 Question Id : 2549898004 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What are the transaction charges of BHIM?

Options :

1. # X100 per year
2. ¥ %0 per year
3. % %10 per year

4. % 3200 per year

Question Number : 33 Question Id : 2549898004 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® ¥100/ad
2. ¢ F0/ad
3. # ¥10/99

4, % 3200/a9

Question Number : 34 Question Id : 25498910451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Observe both the texts and answer the question.

Text 1

“The quick brown Fox jumped over the lazy Dog”

Text 2

“tHE QUICK BROWN fOX JUMPED OVER THE LAZY dOG”

Which of the following cases in MS-Word 2019 is used to convert text 1 to text 2?

Options :

1. % Sentence
2. % Upper

3. * Lower

4. ¥ Toggle

Question Number : 34 Question Id : 25498910451 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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TR 1

“The quick brown Fox jumped over the lazy Dog”

T 2
“tHE QUICK BROWN fOX JUMPED OVER THE LAZY dOG"

MS-Word 2019 & e 1 &l ¢ae 2 § aga+ o ot A & @ fohg o9 ot uieT fopar mam g2

Options :
1. % g9
2. % IR
3. ¥ &SR

v

4. & 2T

Question Number : 35 Question Id : 25498911057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In MS-Word 2016, to create new numbering format on the tab, under group,

click the arrow next to Numbering.

Options :

1. * Home, Font

2. ¥ Home, Paragraph
3. * Design, Paragraph

4. * Design, Font



Question Number : 35 Question Id : 25498911057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2016 ¥, ¢d IR 7471 SR hide g9 & g, g & Sicifd, 9T & 3 aret iR
TR faeTeh el

Options :

1. % 89 (Home), Wi (Font)

2. ¥ g (Home), IRk (Paragraph)

3. ¥ f3SmsA (Design), RATH (Paragraph)

4, % f33ms (Design), Wi-e (Font)

Question Number : 36 Question Id : 25498911075 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is an internal font or built-in font built into the hardware of a printer?

Options :

1. % Outline font

2. * Scalable font
3. ¥ Resident font

4. % Courier font

Question Number : 36 Question Id : 25498911075 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % IS Wi
2. & Thddd hie
3. ¥ ST i

4. % HRR i<

Question Number : 37 Question Id : 25498911077 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
File extension .otf was developed by which of the following companies?

Options:

1. % Microsoft and Macintosh

2. ¥ Adobe systems and Microsoft
3. ¥ Adobe systems and Macintosh

4. # Microsoft only

Question Number : 37 Question Id : 25498911077 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. * Microsoft and Macintosh

2. ¥ Adobe systems and Microsoft



3. ¥ Adobe systems and Macintosh

4. * Microsoft only

Question Number : 38 Question Id : 25498911830 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT the line spacing option MS-Word 2019?

Options :

1. % Double
2. * Single
3. * Multiple

4. ¥ Vertical

Question Number : 38 Question Id : 25498911830 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % Sddl
2. % f&rer
3. ¥ Aeciue

4.  aféma

Question Number : 39 Question Id : 25498911890 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which keyboard shortcut will you use to select an active column in Microsoft Excel?

Options :

1. % Ctrl + Spacebar
2. % Ctrl + Home

3. % Alt+ Tab

4. % Shift + A

Question Number : 39 Question Id : 25498911890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % Ctrl + Spacebar
2. % Ctrl + Home

3. % Alt+ Tab

4. % Shift + A

Question Number : 40 Question Id : 25498919205 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
All formulas in MS-Excel start with

Options :



Question Number : 40 Question Id : 25498919205 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

4. % 3

Question Number : 41 Question Id : 25498925219 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In topology, all the nodes are connected to a single cable.

Options :
1. % bus
2. % star
3. * ring

4. # host



Question Number : 41 Question Id : 25498925219 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.¥ 89
2. ®¥ ¥R
3. % R

4. % g

Question Number : 42 Question Id : 25498933801 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In MS-Word 2019, a quick way to indent text is to use the key.

Options:
1. ¥ Tab
2. # Shift
3. % Ctrl

4. % Insert

Question Number : 42 Question Id : 25498933801 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ Tab
2. # Shift
3. % Ctrl

4, * Insert

Question Number : 43 Question Id : 25498938387 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following networks uses a satellite as one of the communication media?

Options :
1. * MAN
2. ¥ WAN
3. % LAN

4. = PAN

Question Number : 43 Question Id : 25498938387 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % MAN

2. ¥ WAN

3.



% LAN

4. = PAN

Question Number : 44 Question Id : 25498941478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel, enter value 2 in cell C2 and value 4 in cell C3. Select cell C2 and cell C3. Click on

the lower right corner of this range and drag it downwards. Cell C4 now contains

Options :

1.% 0

Question Number : 44 Question Id : 25498941478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Microsoft Excel #, 91 C2 & 2 3R Ia1 C3 # 4 A (dcq) ot he| TeT C2 3R T C3 T T e | 9 9T o ot
TG i WR feTen o 3R 39 e Y 3R &l deT C4 H 319 g

Options :

1.%0



Question Number : 45 Question Id : 25498941487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following formula in MS-Excel 2019 returns current date and time?

Options :

1. % DATE()
2. % NOW()
3. # TIME()

4. = TODAY()

Question Number : 45 Question Id : 25498941487 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % DATE()
2. ¥ NOW()
3. # TIME()

4. * TODAY()

Question Number : 46 Question Id : 25498941496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In MS-Excel, the formula '=C2*$G$2’ is stored in cell E2. When the same formula is copied to cell

E3, it becomes



Options :

1. % =C2*$G3$2
2. ®# =C2*$G$3
3. ¥ =C3*$G$2

4. % =C3*$G$3

Question Number : 46 Question Id : 25498941496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % =C2*3$GS2

5 % =C2*$GS3

3« =C3*$GS$2

4 % =C3*$GS3

Question Number : 47 Question Id : 25498941505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In VBA code, in MS-Excel, the currently selected cell is referred to as a/an cell.

Options :



1. % active
2. # current
3. ¥ cursor

4. # selected

Question Number : 47 Question Id : 25498941505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
MS-Excel & VBA &€ H, ada H gafd 9 &l Tt hgl ST g

Options :
1.+ ufgea
2. % giC
3. ¥ IR

4. % qcfes

Question Number : 48 Question Id : 25498941518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Charts group is listed under the tab in Microsoft Excel 2019.

Options :
1. * Data
2. ¥ Insert
3. # Review

4. % \iew



Question Number : 48 Question Id : 25498941518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Microsoft Excel 2019 &, =ré 7a e & @ e 29 # Hive 813 &2

Options :
1. % S
2.¥ 3¢
3. % Reg

4.% g

Question Number : 49 Question Id : 25498941527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The keyboard shortcut ‘Ctrl + Shift + : (colon) results in entering in the selected cell in

Microsoft Excel 2019.

Options:

1. * the current date

2. % athreaded comment
3. * a hyperlink

4. % the current time

Question Number : 49 Question Id : 25498941527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ gdaH fafr
2. % UHh Y3 dhc
3. ¥ U greuRfciah

4, « ada= gHYg

Question Number : 50 Question Id : 25498941536 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Options for rotating text in a cell in Microsoft Excel 2019 are available under the button on

the Home tab.

Options :

1. % Align

2. % Degree

3. ¥ Orientation

4. % \iew

Question Number : 50 Question Id : 25498941536 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:



1. % 3raTeT
2. % 3
3. ¢ 3Rkdesm

4. %

Question Number : 51 Question Id : 25498941542 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In the VLOOKUP function of MS-Excel 2019, when the range_lookup parameter is FALSE,

match needs to be found for the lookup_value parameter.

Options :

1. % an exact
2. * a partial
3. # the closest

4. % the farthest

Question Number : 51 Question Id : 25498941542 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¥ 9dla

2. % 31ifen



3. ® Qepeaq

4, % T

Question Number : 52 Question Id : 25498941555 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019 , the buttons and icons are grouped into different tabs based on

their functionalities.

Options:
1. # Header
2. * Panel
3. ¥ Ribbon

4. ¥ Template

Question Number : 52 Question Id : 25498941555 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % g
2. % O
3. ¢ ReA

4, % Tl
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Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Heart

The work of the heart can never be interrupted. The heart's job is to keep oxygen-rich blood
flowing through the body. All the body's cells need a constant supply of oxygen specially those in
the brain. The brain cells live only four to five minutes after their oxygen is cut off and death

comes to the entire body.



The heart is a specialised muscle that serves as a pump. This pump is divided into four chambers
connected by tiny doors called the valves. The chambers work to keep the blood flowing round the
body in a circle with the help of the veins and the arteries. Heart diseases can occur from damage
to the heart muscle, the valves, or the pacemaker. If the muscle is damaged, the heart is unable to
pump properly. If the valves are damaged, the blood cannot flow normally and easily from one
chamber to another and if the pacemaker is defective, contractions of the chambers become

uncoordinated.

Until the twentieth century, few doctors dared to touch the heart. In 1953, all this changed. After
twenty years of work, Dr John Gibbon of the USA developed a machine that could take over
temporarily from the heart and the lungs. Blood could be routed through the machine, bypassing
the heart, so that surgeons could work inside it and see what they were doing. The era of open

heart surgery had begun.

In the operating theatre, it gives surgeons a chance to repair or replace a defective heart. Many
patients have had plastic valves inserted in their hearts when their own was faulty. Many people
are being kept alive with tiny battery-operated pacemakers; none of these repairs could have been
made without the heart-lung machine. But valuable as it is to the surgeons, the heart-lung
machine has certain limitations. It can be used only for a few hours at a time because its pump

gradually damages the blood cells.

Sub questions

Question Number : 53 Question Id : 25498921170 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Human heart is a kind of a

Options :
1. # valve
2. ¥ pacemaker

3. ® vein



4. ¥ muscle

Question Number : 54 Question Id : 25498921171 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The function of the heart is to

Options :

1. * supply oxygen-rich blood to only the brain
2. ¥ keep the blood flowing through the body
3. ¥ pump the blood in different chambers

4. * to coordinate the contractions of the chambers

Question Number : 55 Question Id : 25498921172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Heart diseases can occur if the are damaged.

Options:

1. # arteries
2. % veins
3. ¥ valves

4. % Dbrain cells

Question Number : 56 Question Id : 25498921173 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What happens if the heart muscle is damaged?

Options:

1. % The heart is unable to pump the blood properly.

2. * Blood is unable to pass from one chamber to another.
3. # The contraction of chambers becomes chaotic.

4. % Blood is unable to flow through the body.

Question Number : 57 Question Id : 25498921174 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the given options is NOT true?

With the help of the heart-lung machine, .

Options:

1. ®¥ surgeons were able to operate on the heart

2. % plastic valves or pacemakers could be inserted
3. ¢ blood could go through the heart

4. % blood could bypass the heart

Question Id : 25498921169 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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4, % HfEIsh HIfAhTY
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The speed of a boat when travelling downstream is 32 km/h, whereas when travelling upstream it

is 28 km/h. What is the speed of the boat in still water?

Options :

1. % 27 km/h
2. # 29 km/h
3. # 31 km/h

4. % 30 km/h

Question Number : 58 Question Id : 25498928795 Question Type : MCQ Option Shuffling : Yes
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Options :



1. % 27 km/hr
2 % 29 km/hr
3 % 31 km/hr

4.« 30 km/hr
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What should come in place of the question marks (?) in the following question?

4848 + 24 x 11 - 222 =7
Options :

200
o % 2444

3w 2000

[ Ao
8
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o<1 THUT & gof el T U Al ST gI9T1?
4848 + 24 X 11 — 222 =7

Options :

1, % 200
2. % 2444

3. v 2000

3
115
4. % 8
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The area of circle is numerically equal to seven times the numerical value of its circumference.
(Use 'ﬂ:=£)

What is the circumference of the circle? o
Options :

1. % 616 units

2. % 132 units

3. % 88 units

4. % 80 units
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Options :

1. % 616 3&18
2. % 132 313
3. v 88 gTS

4. % 80 IS
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The speed of a boat in still water is 5 times that of the current. It takes 1 hour 6 minutes to row to
point B from point A downstream. The distance between point A and point B is 13.2 km. How

much distance (in km) will it cover in 312 minutes while going upstream?

Options :
1. % 43.2
2. % 48

3.¥41.6

4. % 44.8
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Options :

| % 432

5 % 48

5 v 416

4 % 44.8
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The average of 6, 12, 18, ......, 120 is:

Options :
1. % 61
2. # 62
3.4 63

4. % 64

Question Number : 62 Question Id : 25498929104 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



6, 12, 18, ..... 120 & 3tgg a1 gem?

Options :

| % 61

5 % 62

3.« 63

4 % 64
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How much will a sum of ¥7,250 amount to in a span of 2 years at 6% per annum under compound

interest (rounded off to the nearest integer)?

Options :

1. % 8,176
2. % 38,146
3. % 8,216

4. * 38,170

Question Number : 63 Question Id : 25498929185 Question Type : MCQ Option Shuffling : Yes
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Options :

| = 28176

5> v T8146

3 % T8216

4 % T 8170
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Among the following words, which one will come second if they are arranged as per their order in

an English dictionary?

Options :

1.+ Alive

2. % Afforest
3. ® Anticipate

4. % Appreciate
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Options :

1. 9 Alive

2. * Afforest
3. * Anticipate

4. % Appreciate
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A group of letters is given; the letters are indexed as (a), (b), (c), (d) and (e), respectively, from left



to right. Arrange the letters properly to form a meaningful five-letter word and indicate the index

of the last letter as your answer.
etsuq(a)(b)(c)(d)(e)

Options :

1. * (a)

2. ¥ (b)

3. % (0)

4. % (d)
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etsuq(a)(b)(c)(d)(e)

Options :
1. = (a)
2. ¥ (b)
3. % (0

4. % (d)
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Select the option in which the words share the same relationship as that shared by the given set of

words.

Pink : Red : White

Options :

1. # Orange : Yellow : Black
2. ¥ Green : Blue : Yellow
3. * Yellow : Red : Green

4. % Brown : Black : Blue
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Options :

1. ¥ 9t ; oY : dren
2. v g1 e ; Ui
3. ¥ diar : &ret @ 820

4, % 7 : I ; At

Question Number : 67 Question Id : 25498919822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.

Options :
1. # Raid
2. % Attack
3. ¥ Assault

4.« Defence
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Options :
1. * a1
2. ® JATehHUT
3. ® ol

4. ¥ R8T
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Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.
Options :

1.



* Engineer
2. #* Architect
3. ¥ Mechanic

4, % Mason
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Options:

1. ¥ 3if9gar (Engineer)

2. % ggaR (Architect)
3. ¥ Adhf[e (Mechanic)

4. % IS (Mason)
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Find the number of triangles in the given figure.

A

Options :
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The western disturbances which bring rainfall to the north-west region of India occur during the:

Options :

1. % cold weather season

2. # hot weather season

3. ¥ south-west monsoon season

4. ¥ retreating monsoon season
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The branch of biology which deals with heredity and variation is called

Options :

1. * histology
2. # cytology
3. ¥ genetics

4. * evolution
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Cadmium pollution is associated with:

Options :

1. * minamata disease
2. % black foot disease
3. # dyslexia

4. + itai-itai
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Options:

1. % #i=mHTEr AT
2. ¥ ik He [T
3. ® fegaiferyan

4. ¥ 3eTS-3aT3
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Guru Kelucharan Mohapatra is a maestro of which of the following dance forms?



Options :

1. % Kathak

2. % Kuchipudi
3. ¥ QOdissi

4. % Kathakali
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Options :

1. % hYh

2. % giagel
3. ¥ i<

4. % HAchell
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Who among the following is called ‘Rawalpindi Express'?

Options:
1. * Sachin Tendulkar
2. % Shoaib Akhtar

3. % Rahul Dravid



4. % Imran Khan
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Options:

1. ¥ g dgeta?
2. ¢ U IRER
3. % g gfas

4, % A 9
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Indian American on June 2,2023 took over as the President of the World Bank.

Options :

1. ¥ Romesh Wadhwani
2. ¥ Ajay Banga

3. #* Jay Chaudhry

4. % Kanwal Rekhi
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 25498941458 Question Type : TYPING TEST Display

Question Number : Yes Calculator : None

Peer Pressure can be a huge problem for some young adults. It can sometimes be positive
but most of the time its negative and destructive. Depending on the persons social group
peer pressure represents social influences that affect adolescents. The stress of wanting to
belong can lead to reckless behaviour. Peer Pressure has been blamed for adolescent
behaviours ranging from choice in clothing to drug usage. The need for parental guidance is
at an all time high. Parents need to play a role in preparing their child for dealing with the
pressures the face from their peers. Peers influence your life just by spending time with you.
You may not even realise it. You learn from them and they learn from you. It is only human
nature to listen to and learn from other people in your age group. Peer pressure is defined
as the social pressure by members of peer group to take a certain action and adopt certain
values or otherwise conform in order to be accepted. Teenage is that phase of life when you
are exposed to the world outside. These are the years when you spend most of your time
with your friends. Teenage is the phase of beginning to become independent in life and the
years of forming your ideals and principles. These years shape your personality and the
years that introduce you to your own self. Peer pressure faced during this time can have
long lasting effects if not averted at the right time Peer Pressure can lead to a variety of
issues all of which can have devastating effects. From the social learning perspective it is
found that experimental smoking is primarily a function of peer role modelling that leads
youth to expect positive physical and social consequences from smoking. It is also
discovered that one of the most important reasons of teenage drug usage is peer pressure
which has the devastating effect of depression. Some teens feel an enormous pressure to fit
in. This may not seem like an important thing as adults but to them it is more important
than a lot of things. Teens will do just about anything to fit in with the group they are
seeking acceptance in. Loneliness is a feeling many teens go through. Teens sometimes
abuse drugs to pass their time because they are lonely. For a parent with a child suffering
with teen depression it is imperative that the parent becoming involved in the life of their
child. There are ways to fight peer pressure even if it seems extremely strong and
irresistible. Confidence in self and inner strength to stand firm and walk away are essential
character traits to avoid the ills of peer pressure. It is essential to judge the results of a deed
before getting involved in it. One should always prioritize their thoughts and wants.

Demands of peer pressure should always be secondary. Kids should be taught tips about



saying no when required and staying away from peers who pressure them to do things that
they are not comfortable doing or dangerous. Children should always feel comfortable in
consulting any adult they trust if they have a problem resisting peer pressure. The parents
and teachers should pay attention to the kids to communicate with them if they face any

difficulties.
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